Evaluate Logarithms and Graph Logarithmic Functions (4)
Name______________________
Section 7.4 Notes

    
   

       

Hour______ Date____________
Algebra 2
Warm[image: image20.emf] - You deposit $2,500 in an account that pays 5% annual interest compounded continuously.
a. Find the balance after investing for 2 years?

b. Your goal is to pull out your money when it reaches $10,000 to put towards a down payment on a house.  Use your graphing calculator to find how much time you will have to wait.

c. Is it possible to solve for time algebraically?  
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Example 1 – Rewrite the equation in exponential form.
a.  
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Example 2 – Evaluate each logarithm.
a. 
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b. 
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c. 
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Common Logarithms




Natural Logarithms
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Example 3 – Use a calculator to evaluate each logarithm.
a. 
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b. 
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Example 4 – The sales of a certain video game can be modeled by 
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, where y is the monthly number (in thousands) of games sold during the xth month after the game is released for sale (x>1).  Estimate the number of video games sold during the 10th month after the game is released.
Example 5 – Simplify each expression.
a. 
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b. 
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Example 6 – Find the inverse of the given functions and answer the follow up question.
a. 
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b. 
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c. For exponential and logarithmic functions to be inverses, what must the two functions have in common?
Example 7 – Graph each function and then state the domain and range.
a. 
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b. 
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Assignment – P. 503-505 #1-49 odd, 58-60.








_1471971061.unknown

_1471971335.unknown

_1471971543.unknown

_1472018325.unknown

_1472018384.unknown

_1472018606.unknown

_1471971667.unknown

_1471971690.unknown

_1471971472.unknown

_1471971528.unknown

_1471971452.unknown

_1471971282.unknown

_1471971295.unknown

_1471971237.unknown

_1471971014.unknown

_1471971032.unknown

_1471970932.unknown

